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e Please check that this question paper contains 12 printed pages.

e Code number given on the right hand side of the question paper should be written on the
title page of the answer-book by the candidate.

e Please check that this question paper contains 27 questions.
e Please write down the Serial Number of the question before attempting it.

e 15 minute time has been allotted to read this question paper. The question paper will be
distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the students will read the
question paper only and will not write any answer on the answer-book during this period.
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(i) 39 Fe7-T7 1 G YT, GFT-37 3K T~ 4 FieT 77 8 | 3791 G141 9T 3 gl & I
forad &1

(i) G g7 A &

(iii)  3TTT%H] JIT-37 3R 97T~ & G¥1 3941 & IR §9H-J4F 77T & IR T 7@ 6 |

(iv) T&T YT-3 & T 3% & AT G770, Gie 3% & g 3971 3K 977 7 4 3 3% & b o7 4
SRS 77 QI T 8 |

(v)  HTT-37 & J97 GEIT1 37K 2 TH-TF 37 & Jo7 & | 57% IR T 31e5 79T T T 7
g /

(vi) HFT-37 3 Jo7 GEI13 G5 §1-3l 371 & Y97 & | 598 I} T30 gl H 67 8 /

(vii) HTT-37 % 597 G&IT6 G 15 F7—d17 371 & 97 8 | 579 Tk TTHT50 g H a7 8 |

(viii) SFT-37 @ F97 G116 & 21 Gra-9ie 571 & F97 8 | 579 IR T 70 9Ig] 7 67 8 /

(ix) -8 & 97 G&I722 & 27 1A HIFIT R TERT @-al 371 & J97 & | 579 I
R d 378

General Instructions :

(i)  The question paper comprises two Sections, A and B. You are to attempt both the
sections.

(ii)  All questions are compulsory.
(iii) All questions of Section A and Section B are to be attempted separately.

(iv) There is an internal choice in three questions of three marks each, two questions of
five marks each in Section A and in one question of two marks in Section B.

(v)  Question numbers 1 and 2 in Section A are one-mark questions. These are to be
answered in one word or in one sentence.

(vi) Question numbers 3 to 5 in Section A are two-marks questions. These are to be
answered in about 30 words each.

(vii) Question numbers 6 to 15 in Section A are three-marks questions. These are to be
answered in about 50 words each.

(viii) Question numbers 16 to 21 in Section A are five-marks questions. These are to be
answered in about 70 words each.

(ix) Question numbers 22 to 27 in Section B are based on practical skills. Each
question is a two-marks question. These are to be answered in brief-
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Section — A

1. HUSH A AR e % WY I S 7l b WY fAY 311 370 §oho1 g0 F, & 3o i |
3B 39 Hafd F, H @ et o ¢ 1
Mendel took tall pea plants and short pea plants and produced F, progeny through
cross-fertilisation. What did Mendel observe in the F, progeny ?

2. SHEME (S E) % Ql STeEl o A9 [RET | 1

Name two constituents of biogas.

3. oIsH o TSRl I3l H IR Seiekg I & | s fohH FehR <h 1Mo ST Fehall & 3R
FI 7 UH AR 1 Uk 3¢ fefan | 2

Carbon has four electrons in its valence shell. Which type of compounds can be

formed by carbon atom and why ? Give any one example of such compounds.

4. wfeTsh o fafy= s fafdre wrif 9 geg & | 7a AfTsh o 39 Wi 1 W ey s
fafafga s a2 -
(a) U W BN I Fee
(b) T (It 3TT)
(c) Toreht dftret =l 33T
(d) wTsfehet srAMT 2

Different parts of brain are associated with specific functions. Name the part of
human brain which perform the following functions :

(a) Sensation of feeling full

(b) Vomiting

(c) Picking up a pencil

(d) Riding a bicycle
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5. I3 fe 20 cm IRH Gl o ToREl Tadet gUUT o | 40 cm g W e & | widfas i
feufa 3R wepfa sma AR | 58 oo o wfafers sma1 quni o fore foreor s @it | 2

An object is kept 40 cm in front of a concave mirror of focal length 20 cm. Find the
position and nature of the image. Draw a ray diagram to show the formation of image
in this case.

6. <t Rft sAfufera
MnO, + 4HCl — MnCl, + 2H,0 + Cl,
(a) T 3T Afires o1 m ferfan fg=ht (i) 3w=rm, (ii) T g3 2 |
(b) = YR W IT= 3R 9= =hi giewmsT ferfae | 3

In the reaction :
MnO, + 4HCl — MnCl, + 2H,0 +Cl,

(a) Name the compound (i) oxidised, (i1) reduced.
(b) Define oxidation and reduction on its basis.

7. Tl @@= 3R I WA U 1g 318 Hifedy Feiiiss ool 380 2 mL |15 HeR]h
31 Termen e 2 | e I 19 o1 aeT get I it fofewd o3 37K iRt o1mg, et
fotermg w1 gru foman R B, A 398 9 Torm wehtor 1 fotend w6 U1 # uftad B ? 31
I < ToTu smor ST | IcafSia 19 o fawa 3 o frsrd fepretn S gehar 8 2 3199 I
%1 gft o fore gemfes i i | 3

YAl
(a) heh S H Sk UTIST T ITAT foharm AT 7 | Afg 3MTehl WTATSI BT W Sheh S
T SRt T3S & T W ATkt HIST 3TN Hid! &, 1 IG heh o TG i [hd ThR
THTfI UM SR I ?
(b) sfeh drer ot AfchT uREt | foh yehR witafda fram Sran 8 7
(c) heh I AR 3R TI=A HH ST 7 ?

1 g of solid sodium chloride is taken in a clean and dry test tube and 2 mL of conc.
sulphuric acid is added to it. If the gas evolved is tested first with dry and then with
wet blue litmus paper, in which case will the litmus paper change colour ? Give
reason for your answer. What inference can be drawn about the nature of the evolved
gas ? Support your answer with chemical equation for the reaction.
OR
(a) For the preparation of cakes, baking powder is used. If at home your mother
uses baking soda instead of baking powder, how will it affect the taste of the
cake and why ?
(b) How is baking soda be converted into baking powder ?
(c)  What makes the cake soft and spongy ?
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8. T BT & 5§ fHhet <t Sufedfa o forefl smeafa ot o BT3gioN ol ST 9T & 7 39
stffsran w1 9 feflge qen sawafa 9@ 3t srfufsran gro 9@ @ e 3are & wifas
ToTEHT H Teh =R fARIT | 39 SR H Fehat shi yfHeRT o1 Ieci@ I | 3

What happens when hydrogen is added to a vegetable oil in the presence of nickel ?
Name the reaction and write one difference between the physical property of the
vegetable oil and the product obtained in this reaction. Write the role of nickel in this
reaction.

9. TEcAadA fhH hEd & ? THCT H o UTQY o1 ATHIIhd STRE Wit gHTcHe TecaTdad
3TN HUMTeH TEcd T Gty | 3

What is geotropism ? Draw a labelled diagram of a potted plant showing positive
geotropism and negative geotropism.

10.  3uTiola oequr b8 ad & 7 3 a0 Jmrd: el fifeat & gemgma =i €l g ?
SR ST | 3

What are acquired traits ? Why are these traits generally not inherited over
generations ? Explain.

11. & forelt Himell 6l SaTel 1 G B8 1 3eel Nidfersl serell | 4 m gt W feurq fopeft
T TSI ST ¢ |
(a) o < =1 SR fopa ST 8 4ok Yok o1 A faRaw |
(b) 38 I I HishE gl w1 B AMMEY IR W HiHell shl Sa1en § feha gt o @
ST =T ?
(c) 39 Sehtur § fafers ST guia & fore Amnfera fopor s ditew | 3
CIOE]]

5 cm 31 H1g o 15 cm B gl < fopHl It U1 % | 30 em g8 W fr@ 2 |
T ATt Wiaters 31 ferfa, dsst 3 whfa sma shife |

We wish to obtain an equal sized inverted image of a candle flame on a screen kept at
distance of 4 m from the candle flame.

(a) Name the type of lens that should be used.

(b) What should be the focal length of the lens and at what distance from the candle
flame the lens be placed.

(c) Draw a labelled diagram to show the image formation in this case.

OR
A 5 cm tall object is placed at a distance of 30 cm from a convex mirror of focal
length 15 cm. Find the position, size and nature of the image formed.
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12. = feu 7o gfmey gt fomm Hifsw

(V)
)=
50 80 120
=
—AAAAA——AAANA,
@ AVAAAYAY%

6V
+] = ()
W%ﬁiﬁ%jﬁ@ﬁﬁtq\lmﬁa%w UTGRITeh BRI ? 319 3T shi 0T Hfed gfY
HIfT | 3
AU

Iga fatierehdt fpl ed & ? gHT SI U gea— shifore | fopeft sioft ferega uftay H,

e a7g o TR 1 HIE IfEeh JST 8, UHIT 1 deaish 100 mA & | Jfg aR i owas

1 g1 AT K fen e, o ufwy ® yertad o forw yehr aftafda gl o e 3 s g
HITSTT |

Consider the following circuit :

()
(=
5Q 80 120
()=
—AMAA——AAAN
(A1) AAAAN

6V
HHHH=—C)
What would be the readings of the ammeter and the voltmeter when key is closed ?
Give reason to justify your answers.

OR
What is electrical resistivity ? Derive its SI unit. In a series electrical circuit
comprising a resistor made up of a metallic wire, the ammeter reads 100 mA. If the
length of the wire is doubled, how will the current in the circuit change ? Justify your
answer.

13. Toamsr & 7l ° freafofea I o1 3w w6 &1 $a @ aiefia hifse Jafes
fo@ A afd wh Ife M wz6.002 |
(i) 1000 W = ferget gtex fdfe 5 &ie
(i) 400 W 1 forera Thisie wfdfe 10 92 3
Calculate the total cost of running the following electrical devices in the month of
September, if the rate of 1 unit of electricity is T 6.00.

(1)  Electric heater of 1000 W for 5 hours daily.
(1i1)  Electric refrigerator of 400 W for 10 hours daily.
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14. &M H U YISO o FLATT hl UgId Tra frferent gatean 3 Sfamedt SeMi, wnfeess,
HATH (G o FAM o IR THE T o T | BE1 4 I8 9 o ¢fep Sfam
TATRECSh AT Uiehiefi 1 518 Y0 W 39N Bl & s Sreht =i 37X 3 STl i
s SR S Hehdl 8 | 38 I8 v T 6 gm ot fee st fammer
“ TATTECh STR AT~ Jard SHTET TUT Teh—GER ol $7h A ST START o 178 TN
HT |

(a) efep Sitam A utcfefia 3TR werfeess s IR S I fohat ST =nfae 2
(b) BT A 319 freerd § g I | s fohg YR foham &R 7
(c) 31 Fw=ra <hl wherell o fIq BT 3 Ueh-guR ! fopd wehr Ut foparm &em 2 3

While teaching the chapter “Our Environment” the teacher stressed upon the harmful
effects of burning of fossil fuels, plastic, paper etc. The students noticed the extensive
use of plastic and polythene in daily life, which can be avoided and the surroundings
can be kept clean. They decided to make their school “plastic and polythene” free and
motivated each other for its minimum use.

(a) Why should the use of polythene and plastic be reduced in daily life ?

(b) In what ways the students would have avoided the use of plastic and polythene

in their school ?

(c) How the students would have motivated each other for the success of their

decision ?

15, “YTehiceh HETEHT 1 UG T M2 7 I8 FI STELIH g ? IH:=5h0T I G399
T ¥ 31 fordl TN 3T I ? 3

What is “Sustainable Management of Natural Resources” ? Why is it necessary ?

Which one out of reuse and recycle, would you practise in your daily life and why ?
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16. (a) TRt o &9 H 3 o TERMD I hl T S5 Tk 3MUR W argati 3R
T3 o & 3T fepaT AT 2 |
(b) IR I ST & &= & & YT faIRaT | 5

(a) List in tabular form any three chemical properties on the basis of which metals
and non-metals are differentiated.

(b) State two ways to prevent the rusting of iron.

17. 3794 I 61 If¥ hd g Y 3Tad areft § foreht atmad # a1¢ 9 g W W a6
= feu T eremt i wgfa 6 =men i -

(a) TSI | fomror (aftad)

(b) - P o ufteda

(c) ®fcash & 3TeTfcereh TA&ToT

(d) Torga EomcHRaT-&

() 3lerETSEi hl Tehfd 5
e

(a) TSI o Al o SFITehTUT ShT STTEITT T AT 7

(b) TUSTHI i 3TTad TRt 6l g ITATSRT <ht T SR |

(c) 3 Tegl Q1 ol sht Tt sTSY frgiv Husel o e e =l I |

Explain giving justification the trends in the following properties of elements, on
moving from left to right in a period, in the Modern periodic Table.

(a) Variation of valency.
(b) Change of atomic radius.
(c) Metallic to non-metallic character.
(d) Electronegative character.
(e) Nature of oxides.
OR
(a) What was the basis of Mandel&ev’s classification of elements ?
(b) List two achievements of Mandel@ev’s periodic tables.
(c) List any two observations which posed a challenge to Mandel€ev’s periodic

law.
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18. (a) T T TIhISI o ST foRaUeH < THY g aTelt STfufshar o1 gientor fafan |
(b) ISl o ST H ya@H i afshan fefaw |
(c) TUHH N IUFRT TeaTR SHEft T=T ot A8 foifau | sk g1 1t ot gt sA18T |
(d) THET H 5EH Sofeh T AT 3R 36! T firent faRau | 5
T

(a) B UTEHl H UTg 9 aTel T < SR % YehR ol A fofay 3fi 3Heh! sawe
HINT | 39 iR & T 3Tmawaes el arft faftgu qen gisrn &1 qamtes
TR ST |

(b) 3@ UTHAT A BN aTell i TeI3T T Sooi@ iU |

(a) Write the reaction that occurs when glucose breaks down anaerobically in
yeast.

(b)  Write the mechanism by which fishes breath in water.

(c) Name the balloon likes structures present in lungs. List its two functions.

(d) Name the respiratory pigment and write its role in human beings.

OR

(a) Name the process and explain the type of nutrition found in green plants. List
the raw materials required for this process. Give chemical equation for the

mentioned process.

(b)  Write three events that occur during this process.

19. (a) Taftrrar w2 7 foreht awfe o fafimran form yor 3= Bt @ 7 forelt wfiefie o
St Tafirrar 3ereh! Seriiferdn § forar TehR wgme B & 7
(b) AR ST fh <ifieh S e Tt Sfat H SHeh Ta Hatd | U1 shi ST S0
fpar ypR s i B 7 5

(a) What is variation ? How is variation created in a population ? How does the

creation of variation in a species promote survival ?

(b) Explain how, offspring and parents of organisms reproducing sexually have the

same number of chromosomes.
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20. (a) SRI-GLIMBA RIS ? THHI HRVT [IRIT | 91 TN Fohd TepR o ST & 7
(b) TITCT % WY T WA FT TG BT & ? AHIfRd NG hl HERAT § TS
HIT | 5

(a) What is presbyopia ? State its cause. How is it corrected ?

(b) Why does the Sun appear reddish early in the morning ? Explain with the help
of a labelled diagram.

21, (a) GrochIT & @I 1 Bl & 7 & TEIST T ST hieh gk & § fopet fog
T grhiT & <hl feum ford Wb T <Al STl & 7
(b) & AR FuEhert <X 3N Y’ Uh-gm % forebe @ & | Al pugeh X fergg
T T i fohaT ST, a9 Ut <Y’ H i 9wy i gt ? shRoT S |
(c) “weAtH 1 gfequr g fem forfaw | 5

(a) What are magnetic field lines ? How is the direction of magnetic field at a point
in a magnetic field determined using field lines ?

(b) Two circular coils ‘X’ and Y’ are placed close to each other. If the current in
the coil ‘X’ i1s changed, will some current be induced in the coil ‘Y’ ? Give

reason.

(c) State ‘Fleming’s right hand rule”.

-9

Section — B

22. foreft ferammera <t SRITTSTGTT § “ETEA % T hl HSR qAT Jg T H qeHTCHED TEHIS &
T LI B o ToTT 3R TS T TYAT ITAH &I & | TeT bl hR §M o oI it o
STt H SRITSITEAT | hi9 HT e Sl ST Tehdl & ? ST | |G ! ThTs &9al shi ger
HHH A @ 7 2

In the laboratory of a school, the sample of hard water is not available “to study the

comparative cleaning capacity of a sample of soap in soft and hard water”. Which salt
from the laboratory can be added to tap water to make it hard ? In the experiment

how is cleaning capacity of soap compared ?

3111 10 Cn1
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23. fTopeft foremera <t SRTRITGTT H BT $S YA gRI TAHTgh 3T oh TUTEHT ohl TSR L T8
& | 3 3Rl 3Tt el o1 TlieqT fore bR o Tkt & 7 &1 wie ferfla | 2

In a school laboratory the students are studying the properties of ethanoic acid

through certain experiments. How can they test its acidic nature ? Give two tests.

24. TIEA h IATY T HIEH SEIATFTSE oh S o ST i oh TAN h TRTTh T
%1 AHIfRA 3T i | 2
Draw a labelled diagram of the experimental set up for the study of liberation of
carbon dioxide gas during respiration.

25. e § 9 < o foru 3fea swm A smE difww | 2

Draw diagrams showing reproduction in yeast in proper sequence.

26. hTa i FAIATHR feett & T arefl wehrer fomeor &1 g amRad & oy | foreht
BT 3 379 V&1 6! ATfAhTaG fopaT | Ife I8 3793 T | < ITe=liehi o fTT /i @ 71
40° 3T 50° T 8, o Teeh T H Le 3T L1 o T&t A o1 8 =T 7 2

YAl

15 cm ®i%hE gl * I F gRI oF | 25 cm g8 X Terd fepelt forrat b1 widferray s
T o foru amifera fertor s difaw | afe fora 61 wmes 4 om 2, @ wicfers 1 aEs
T Hifs |

While tracing the path of a ray of light passing through a reactangular glass slab a
student tabulated his observations. If in his experiment for two readings he takes two

values of /i as 40 ° and 50°, what should be the correct values of Ze and Zr in each

case ?
OR

Draw a labelled ray diagram for the formation of image by a convex lens of focal
length 15 cm when the object is placed at a distance of 25 cm from the lens.
Determine the size of the image formed, if size of the object is 4 cm.
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27. 39 ITE i < Rft A R -
3T (0-1A), AeeHE (0-3V), 20 Q T YfeRieh, Fit, g =, 3V 6 Je qen
7 G AR | 39 ATl ST 3T ek fohet wfatias & yanfga faga e (1) w3\
gferierss o Toli & i fawar=wr (V) 1 fftar 1 s1eEm @ & fore amifea afoy
3@ S | 2

You have following material :

An ammeter (0-1A), a voltmeter (0-3V), a resistor of 20 (2, a key, a rheostat, a battery
of 3 V and seven connecting wires.

Using this material draw a labelled circuit diagram to study the dependence of

potential difference (V) across a resistor on the current (I) passing through it.
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